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ENGLISH VERSION

Instructions :(1) Answer all questions.

(2) Figures to the right side indicate marks of the question.

1 Mr. Kishor is received an offer from one company as a basic20

salary of Rs. 30,000 per month. Other allowances are given below:

Dearness allowance is 18% of basic pay.

Bonus is equal to one month basic pay.

Project allowance is 6% of basic pay.

Company gives the following two options to Mr. Kishor :

Option - 1 : To take a rent-free accommodation and the company

would direct paid the rent of Rs. 12,000 per month.

Option - 2 : To accept a house rent allowance of Rs. 10,000 per

month and find out own accommodation. Mr. Kishor pay a house

rent Rs. 10,000 per month for house. (Considered Taxable House

Rent Allowance is Rs. 45,480).

For both the option considered standard deduction Rs. 50,000.

Suggest which one is better option?

OR
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1 Mrs. Kinjal purchases 5,000 equity shares of Bhaumik Ltd. on20

April 2017 at the rate of Rs. 2 per share. Bhaumik Ltd. goes in
thliquidation on 30 June 2022. The Balance Sheet of the company

thas on 30 June 2022 is as follows :

Liabilities Amt. (Rs.)Assets Amt. (Rs.)

50,000 Equity Shares 5,00,00010,000 Debentures of30,00,000

Accumulated profit 30,00,000  A Ltd. (Non-listed)

  (Cost Rs, 9,00,000

  at the time of

  acquisition on May

st  1, 2019)

Cash in hand 5,00,000

35,00,000 35,00,000

Assets are distributed to the shareholders. Consequently Kinjal

gets 1,000 debentures of Bhaumik Ltd. (Market Value

Rs. 3,00,000) and Rs. 50,000 in cash. She transfer 1,000

debentures on January 6, 2023 for Rs. 3,20,000.

Considered following Inflation Index :

(1) For the year 2017-18 = 272

(2) For the year 2022-23 = 331

Find out taxable amount for Bhaumik Ltd. and Mrs. Kinjal.

2 Megha Ltd. own two plants, Plant-A and Plant-B. Depreciated20

value of the plant on April 1, 2022 is Rs. 97,500 and rate of

depreciation is 30%. Calculate the full year depreciation at the

rate of 20% on assets purchased during the year.

Find out the amount of depreciation and capital gain in the

following siturations :
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stSituation - 1 : Plant-B destroyed by fire on May 31, 2022.

Insurance company pays Rs. 12,500 as compensation. The

thcompany purchases Plant-C on September 31, 2022 for Rs.

12,500. It is put to use on the same day.

Situation - 2 : Suppose under situation - 1, insurance

compensation as well as cost of Plant-C is Rs. 1,15,000.

stSituation - 3 : Plant-B is destroyed by fire on May 31, 2022.

Insurance compensation is determined at Rs. 15,000. Instead of

paying Rs. 15,000 as compensation the insurance company gives

Plant-C whose market value is Rs. 15,000. It is put to use on

thOctober 16, 2022.

Situation - 4 : Suppose under situation - 3 insurance compensation

and fair market value of Plant-C is Rs. 1,22,500.

OR

2 Jil Ltd. is one manufacturing company and purchase a machine20

on April 1, 2014 at Rs. 1,52,500 for improving the quality of

manufacturing. If the research activity for which the machine

stwas purchased on November 1, 2021 (Market Value of the

Machine Rs. 57,500) and this machine is sold on April 4, 2022

without using it for another purpose. Selling Prices are as follows:

(A) Rs. 47,500

(B) Rs. 1,35,000

(C) Rs. 2,02,500

(D) Rs. 3,75,000

Consider following Inflation Index :

(1) For the year 2014-15 = 240

(2) For the year 2022-23 = 331

Calculate taxable income for the above mention all selling

situations.
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3 Discuss the provisions regulating for transfer pricing.15

OR

3 Give a detail explanation about advance ruling. 15

4 Explain the benefits of amalgamation available under the15

Income Tax Act.

OR

4 Explain about the tax benefits due to transfer of assets between15

holding and subsidiary companies.

___________
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